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Question No. 1
Which of the following is a natural reservoir of phosphorous?
A)Animal bones B)Seawater
C)Forest D)Rock

Prfaf@d # ¥ -0 FEERE FT IpfaT $ER 32
A)STAaRT & gsfear B)HHGT STt
C)ast D)dgret
Answer Key : D
Question No. 2
A state of reduced metabolism occurring in animals that sleep during parts of cold winter months is called-

A)Hibernation B)Diapause

C)Aestivation D)Exothermy

38 & AfT & e A gy AFRT F @l arell FH IAET S AT Fr gl ST gl
A)NafSraar B)3®Rfa (Diapause)

C)arsAfATSHIar D) Ut

Answer Key : A

Question No. 3
Which of the following is the correct sequence of the frog metamorphosis?
A)Egg, Adult, Froglet, Tadpole B)Egg, Froglet, Tadpole, Adult
C)Tadpole, Egg, Froglet, Adult D)Egg, Tadpole, Froglet, Adult

ffaf@a & & Fla-ar FHed FFRT F T FA g2
A)37ST, TR, Hgeheh, ¢sUlel B)3isT, Higeheh, <sUIe, aaEH
C)esuld, 3isT, HAgheh, TIEhH D)3isT, ¢sulel, Hgeheh, aTEH
Answer Key : D

Question No. 4
Zymogens are enzyme-

A)Modulators B)Precursors
C)Inhibitors D)Modifiers
A, TSEH & gl

A)ATSgeIcH B)qdadt (Precursors)
C)deas (Inhibitors) D)&eies

Answer Key : B

Question No. 5
Saturated fats are predominantly found in-
A)Red meat B)Pastries
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C)Dairy goods D)AIl of the options
Heod TET HET ¥ A # 91§ STl g

A)dTe A B)uEST

C)sT & ATATAT D)fawedl # & @Y

Answer Key : D

Question No. 6

The overall process of meiosis results daughter cells from one single parent cell.

A)Three B)Four

C)Five D)Six

RIS B THT GfHAT T Tehel SieTeh AT Hafar FRFET F1 @#Tor g
AT B)aR

C)ara D)og

Answer Key : B

Question No. 7
The fertilized egg cell that results from the union of a female gamete with a male gamete is known as the-

A)Zygote B)Morula

C)Blastula D)Gastrula

TR IIAF & WY AR IeAF & AT § a1 aror AR 378 #r F & F F=T ST
A)FTIT B)ireat

C)serregelr D)dreger

Answer Key : A

Question No. 8
The central nervous system is made up of the brain and the-

A)Ganglia B)Plexus
C)Spinal cord D)Cranial nerves
o dim T ARasH IR _ & g @ar #

A)INTerar B)colerad
C)A¥cs D)&4rel df3enr3it

Answer Key : C

Question No. 9
Which of the following has two large vesicles that will ultimately become the cerebral hemispheres?
A)Diencephalon B)Mesencephalon
C)Metencephalon D)Telencephalon

Aefaf@d # ¥ Fad o 92 aRF § S 3ida: THREASE Mg T2
A)sTET=atATT B)Fiathelled
C)AcHb T D)o athaliel

Answer Key : D

Question No. 10
Find the correct sequence of embryonic development.
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A)Zygote ---> Morula ---> Blastula ---> Gastrula B)Gastrula ---> Zygote ---> Morula ---> Blastula
C)Blastula ---> Gastrula ---> Zygote ---> Morula D)Morula ---> Blastula ---> Gastrula ---> Zygote
HOT & AP FT WS FA AT A

A)SITSANE ---> HIZel ---> SARECll ---> IEgell B)3egell > Sgaie > Hi¥ell —-> selegel
C)sellEgell ---> IFgell —---> SFAME ---> HAell D)AREEAT ----> SRl ----> IEFeAT ---> SIS

Answer Key : A

Question No. 11
Which of the following is a fluid-filled cavity?

A)Morula B)Blastocoel
C)Trophoblast D)Trophectoderm
Prafea & & #i g7 & a7l 7 B2

A) AT B)saeciehi el
C)ehlsalEe D)erthareissy

Answer Key : B

Question No. 12
Which of the following statements is FALSE about the evolution of man?
A)About 15 milion years ago, primates called the B)The Ramapithecus was more man-like, while the

Dryopithecus and Ramapithecus Dryopithecus was more ape-like
existed
C)Homoerectus had a large brain around 900 cc D)Homo-habilis probably ate meat

#TT & Rww & ar F Fffd & § Fla-ar Fu 3w §2

Ayeererer 15 fAfora a¥ uga, sfdsa 3R B)uaREsw 3iffe #A-a-sar o1, Sefe sfRdew
AR AFe sAe 3iedaca & I 31T aeR-sHar ATl
C)RIHISYaey &I ATEaSH §aT T, o9 900 cc a1l D)R-2ffaw amue Al @ A

Answer Key : D

Question No. 13
Pleiotropic genes are those which have a-

A)Single phenotype B)Multiple phenotype
C)Multiple genotype D)Single genotype
R e & @ & St g &1

A) TR thelesd B)u&ftF thellersy
C)uahiftier Sisilersy D)Ushd Sisilesa

Answer Key : B

Question No. 14
Who is considered the Father of Genetics?

A)Gregor Johann Mandel B)Charles Robert Darwin
C)Jean-Baptiste Lamarck D)Hugo de Vries
AT 1 St TR AT ST 3?

A)AIR SiisT Hzel B)aTed Ia¢ sifae
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C)sher-dftee dwrds D) 3 Bt

Answer Key : A

Question No. 15
A variant form of a gene specifying a particular trait is called a/an-

A)Allele B)Hybrid

C)Divergence D)Genotype

R Ay FeToT Fr AfEse FIer A T & Pt &7 F FgT AT Bl
INEIGH B)grsisis

C)faTe D) EICICES]

Answer Key : A

Question No. 16
In which phase of meiosis do homologous chromosomes separate?
A)Metaphase | B)Metaphase Il
C)Anaphase | D)Anaphase Il

IreRERfIsSeT Fr R IEaEAT F FHSAT ORIl B AT &7
A)FeTaT | B)#eThat I
C)TaThoT | D)uaThST I

Answer Key : C

Question No. 17
Who proposed the term "Eugenics"?
A)Francis Galton B)Woodworth
C)Edward Thorndike D)Hippocrates

"FolfArg" eq 1 T fhea Rar?
A)WITEE IMecet B)gsay
C)usds UTAsIsHh D)fgutshfece

Answer Key : A

Question No. 18
Which of the following is a factor that causes the Hardy-Weinberg equilibrium?
A)Genetic drift B)Natural selection
C)Mutation D)AII of the options

feT & @ A FRF § S erSt-aTadT HerT T HROT FeAT 2

A)3TTTafren f3oe B)wrhfdeh =ge
C)3caRada D)fasedr 7 & Tl

Answer Key : D

Question No. 19
Chemical signals passed between the members of the same species are called-
A)Pheromones B)Hormones
C)Waves D)Signs

T & Uolfa & deEar & arg qIiRd IHafAs Tehdl ST AT Hgl SIal g7
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A)HUAH B)giAled
C)aar D)frest

Answer Key : A

Question No. 20
Animal movement towards light is known as-
A)Geotaxis B)Phototaxis
C)Thermotaxis D)Chemotaxis

el Y IR ST FT HeAeT AT Fgellell 62
NEIEIELEE] B)wrer i
C)uwfeFag D)AFaT

Answer Key : B

Question No. 21
Which of the following mammals can adapt in deserts?
A)Dipodomys B)Horses
C)Sheep D)None of the options

frfaf@a & & Fla-ar waerarldy e 7 srqges # T 82
A) fearsteer B)eNs
C)#s D)fdseut & & FS g

Answer Key : A

Question No. 22
Which of the following causes Kala-azar disease?
A)Omocestus B)Atractomorpha
C)Chorthippus D)Leishmania

=fRT § @ P AT FTAT-3AR AT FT HROT FoIdT &7
A)3ATRECH B)weFeIATRT
C)aRfacag D)eirerdfaar

Answer Key : D

Question No. 23
Which of the following belongs to the class Hexactinellida?
A)Hyalonema B)Aplysina
C)Niphates D)Spirastrella

fAmfaf@a & & -1 grariFeafasT @@ & Hafd g2

A)gITel Tt AT B)37celidl=T (Aplysina)
C)%heca D)TaTeEC el

Answer Key : A

Question No. 24
The bath sponge carries the zoological name of-
A)Vorticella B)Dracunculus
C)Trichuris D)Spongia
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T TS T WOMRIENT (S[eiforeher) ST HisT-AT §7?

A)arfeaer B) $heTdhore
C)ersgRE D)Taferar

Answer Key : D

Question No. 25
Which statement is WRONG about Echinodermata?

A)Echinoderms are exclusively marine B)Coelom is spacious
C)Head is present D)Body is unsegmented
TFHSAISHT & IR 7 PleT T FUF ITad 82

A)TehTgaTsH a9 &9 & T 81§ B)FIIdiid faemer gar &l
C)gs Al &Idr & D) 3r@fUsa giar gl

Answer Key : C

Question No. 26
Locomotion of sand dollars is by the use of-
A)Limbs B)Spines
C)Tentacles D)Fins

3 STeR T Tl fFas 39T & giar 87
A)foFsg B)TdIs—H
C)éeHhed D)=

Answer Key : B

Question No. 27
Which of the following is the name of the branches that are found along the length of the arms of sea lilies?
A)Epilimbs B)Evisceration
C)Pinnules D)Madreporite

fearfaf@a & & =l a1 3 a3 F A § S G o v semsit fr g F w9 S §2

A)ufaforsg B)ufaaversT
C)=ged D)HZUIRTSC

Answer Key : C

Question No. 28

In echinoderms, the is utilised in locomotion, feeding, sensory reception, and gas exchange.
A)Water vascular system B)Retractor muscle

C)Hyponeural system D)Pellicle

THEAsRY & FT 3YART Haeld, Ao, Tadr RAwE 3R g RfFET & fFar smar g
A)STeT Hagsl dF B)3mmehareh el

C)3rerdf¥e dF D)dfersher

Answer Key : A

Question No. 29
Which of the following is the term used for the study of insects?
A)Palaeontology B)Paleoecology
C)Entomology D)Nephrology
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Fret F 3egysT F v Aafaf@a F ¥ i a1 s w39 Far aar 82

A)del=erdisit (Palaeontology) B)uferghraiisi
C)UeTATalSi D)aishreliai

Answer Key : C

Question No. 30
From which of the following is the molting hormone or ecdysone secreted?
A)Pineal gland B)Thyroid gland
C)Prothoracic glands D)Sebaceous gland

fArfaf@a & & e Afedr geifa ar tsas oifda aar 372
A)difaTe afY B)uR1ss Iy
C)maRf@s ufy D)Refaaw afy

Answer Key : C

Question No. 31
The common name of Aphrodite is-

A)House fly B)Fire fly
C)Tape worm D)Sea mouse
TPHISISE FI AT ATH FIT &7

A)ERe] HFEY B)SI7Te
C)®hrar S D)&eeT =g

Answer Key : D

Question No. 32

The order comes under the class Oligochaeta.
A)Pharyngobdellida B)Arhynchobdellida
C)Sedentaria D)Lumbriculida
IR 3ifoeide a9 & siada e gl

A)BRanastersT B)3Rfg-rarasforsr
C)aseRar D) fFsipiorsT

Answer Key : D

Question No. 33
Which of the following is the name of the larva of polychaeta?
A)Hyalonema B)Chalina
C)Trochophore D)Heliopora

fafaf@a & & i a1 dieier & «mEt F1 A 82
INHPEIGIE B)dTeltar
C)ZhHR D)geN3aRT

Answer Key : C

Question No. 34
By which of the following is Trypanosoma gambiense transmitted?
A)Blow fly B)Tsetse fly
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C)Flesh fly D)Stable fly

Rt Meawrn Peafafla # ¥ e garr daia @it &2

Al TS B)clcH Fells
C)Folel TellS D)REd FATS

Answer Key : B

Question No. 35
An organ of chemoreception that is part of the olfactory system of amphibians, reptiles, and mammals,
although it does not occur in all tetrapod groups is called the-
A)Hormonal organ B)Jacobson's organ
C)Respiratory organ D)Circulatory organ

THITTEYT (chemoreception) T T 3HaT S 3R, FAYA AR F=renRat $ir oror yomelr &1 Rear 8, grenfs
ag w grls g F e ¥, Feww &2

A)grHfAeT 3797 B)Stehardel T 37T

C)adeT 37T D)IRETROT 3797

Answer Key : B

Question No. 36
The compound eyes of arthropods are composed of units called-

A)Eyelets B)Fenestrae

C)Ocelli D)Ommatidia

Imifdigw fr w@gFa AE gy Hr i geat ¥ w0 g &, O gl AT gl
A)3TSelT B)%eee

C)3iTaelr D)3frefefsar

Answer Key : D

Question No. 37
Which of the following is depicted by the term Apiculture?
A)Cultivating mushrooms B)Cultivating silkworms
C)Bee-keeping D)Multiplying microbes in labs

fArfaf@a & & R Theeay asg ganT gl IR’ 87

A)HAEFH ST Tl el B)I@# & IS FI UTelel Hlall
C)aeHaE drefel D)SaTRITel & LML T 07T

Answer Key : C

Question No. 38
The preparation of Shellac (purified lac) is done as-

A)Blue flakes B)Orange or yellow flakes
C)Green flakes D)Bluish green flakes
T9ST (Shellac) (Y& or@) Fr Ty F ®q F ¥ S B

A)airel qufsat B)aAGeM ar drer wufsat
C)edr uufsar D)siremmeT g3 gufsar

Answer Key : B


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda247

Question No. 39
Which of the following is the source of Tasar silk?
A)Schistocerca gregaria B)Nephila madagascariensis
C)Acraea andromacha D)Antheraea royeli

TR WA &1 A9 Ffa@a F § sla-ar 2
A)RIFERReT RAT B)sifthem A RAT-TT
C)ush3 TgrATT D)EARET I

Answer Key : D

Question No. 40
Paramecium takes its food by-
A)Oral grooves B)Pellicle
C)Macronucleus D)Trichocyst

RAR™HA (paramecium) 39T STl FA TAGUT FIT &7

A)FE & T gaRrT B)dfereher earr
C) =g fFerad gan D)grsifaEe gant

Answer Key : A

Question No. 41
is a large polymer that forms a mesh-like scaffold around the bacterial cytoplasmic membrane.
A)Pseudomonas maltophilia B)Escherichia coli
C)Clostridium kluyveri D)Peptidoglycan

U §31 ageh § o Shar] (SRR Asevarioa® Feel F URT AR T S SKT Thhies ()

AT &
A)FIESTHAIATE AleeIhrordr B)vEaRf==r &rems
C)FlTEei3aH FIgadr D)uftesTalsahal

Answer Key : D

Question No. 42
Which of the following is NOT a component of Golgi bodies?
A)Tubules B)Lamellae
C)Plastids D)Vacuoles

faf@a § @ Fia-ar, dfeet FIIT F1 BEAT 6T 272

A)TTsged B)older (Lamellae)
C)cenfeesa D)dFg3ited

Answer Key : C

Question No. 43
is the outer leaflet of the plasma membrane.
A)Sphingomyelin B)Vascular bundle
C)Rhizobium D)Azotobacter

CATGHT Bieell & a1 93 (leaflet) Re=ifaf@a & ¥ Fia-ar &2
A)FREwranaTsersT B)deher §se
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ONETIERES D)uSiieidaex

Answer Key : A

Question No. 44
Which is an essential phospholipid that makes up to 15% — 20% of the inner mitochondrial membrane?

A)Permease B)Cardiolipin

C)Cristae D)Porin

FIT-IT TFH HETF BIERIANE § A HARE ABHR=gdd Breel F 15%-20% dF §=Idr §2
A)ufHATs (Permease) B)afsaifafeT

C)fFE(Cristae) D)t

Answer Key : B

Question No. 45
In skeletal muscle cells, the reticulum sarcoplasmic is released in-

A)Hydrogen ions B)Sulphur ions

C)Calcium ions D)Nitrogen ions

heprer T AT FRAFHT 7 WNFew Aenfcenias, # fAdwa frar S g
A)ETESSIT 3T B)HeW 3

C)&ferrs 3maa D)ATSeSTeT 3T

Answer Key : C

uestion No. 46

Spindle fibres attach to of chromosomes.

A)Chiasmata B)Cytoskeleton
C)Cytokinesis D)Kinetochores
fodser Wiy, FHEA F W 5 &

A) RrareATer B)dIScIEhelce
C)aTscIhISATadE D)fheicihik

Answer Key : D

Question No. 47
The chemicals produced as messengers that affect the behavior of other individuals of insects or other
animals are called-
A)Steroid hormones B)Neurotransmitters
C)Pheromones D)Chemoattractants

HERAEH & T F 3cTesT WIS BT, ST ST A FAfa & 3T Ge&T AT 3T A[RT & TdGgR HI FHAd

FAE, _ FEd 8l
A)TRTTE grAfT B)7ZciE#HeT
C)&T D) EAEIKIER S

Answer Key : C

Question No. 48
The animals which only feed on plants or producers are called-
A)Herbivores B)Carnivores
C)Omnivores D)AIl of the options
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q IR] S el Gl A7 SCUEH B @A §, F Feed §7
A)rRaelr (Herbivores) B)ATAERT (Carnivores)
C)TaTgRY (Omnivores) D)fasedl & & Tl

Answer Key : A

Question No. 49
Which of the following is a 'biotic factor' in the environment?
A)Water B)Heterotrophs
C)Soil D)Atmosphere

JATROT 7 AfF FRe Fefaf@a & O sla-ar §2
A)siet B)geIeird
C)Her D)arg#HseT

Answer Key : B

Question No. 50
Decomposition and mineralisation of dead matter to release them back for reuse by autotrophs are done by-
A)Secondary consumers B)Primary consumers
C)Decomposers D)Producers

A gaRT GoT: 39AT & fAT Ad gerd # aNE oisd & fv e smued 3R afashawor frad qEm

R STar 87
A)gfadaes 3usterar B)wrafAs 3Usiiardr
C)319gce D)3cdTeeh

Answer Key : C

Question No. 51
Heterotrophs are commonly known as-
A)Producers B)Consumers
C)Decomposers D)None of the options

2eUSH FI IMHAAR W fFG AF7 § ST ST 82
A)3carceh B)3usiierar
C)3qeceh D)fawedl & & HIg AGT

Answer Key : B

Question No. 52
A type of food chain in which energy at the lowest trophic level is acquired via photosynthesis is/are the-
A)Grazing food chain B)Detritus food chain
C)Both grazing and detritus food chains D)Neither the grazing nor detritus food chain

TF YR A W HT o TR @eewr & Aregd ¥ ferad df ®R W Fe e i S 2R

&
A)TRTS WIeT AHEel B)sciged @ieh H@ell
C)=T$ 3R Sgisey Wied HWal gl D) =g 3R 7 & Sgrsew Wie el

Answer Key : A

Question No. 53
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The organisms which occupy a specific place in the food chain is known as the-
A)Primary level B)Trophic level
C)Secondary level D)Tertiary level

q ST S @iy 4@er # vk AT T @A §, A Fgerd g2
A)IrIfAe® TR B)difScahar TR
C)efadas TR D) TR

Answer Key : B

Question No. 54
The land-based community of organisms and the interactions of biotic and abiotic components in a given area
whose examples include the tropical rainforests, grasslands, etc., is called the-
A)Freshwater ecosystem B)Marine ecosystem
C)Terrestrial ecosystem D)Aquatic ecosystem

Shat & fA-3meRa woqerr iR et fRw are & & oifdw 3R IoifT et & wew B, e semvort
# swrefeati aviad, o & A 3nfg afAe §, 1 Fgaen 82

A)HS ST T TIRFEITAHT B)®HG aIREAfchT o

C)reiy uiRfEufadr ax D)steirar qikfFyfaehr aF

Answer Key : C

Question No. 55
In which of the given states is the Bandipur National Park located?
A)Karnataka B)Rajasthan
C)Assam D)Andhra Pradesh

AR T eI Peafafaa & & B Tsw & Ry ¥?
A)FATcH B) ST
C)3aH D)31Ter gaer
Answer Key : A

Question No. 56
Substances secreted to the outside of an individual and received by a second individual of the same species
in which they release a specific reaction, are termed as-
A)Pheromones B)Hormones
C)Waves D)Sign

T oy St o afad & A} wifdd gl § 3R 38 yenfa F gy safdd garr ued e o § e 3 v
A)RIATE B)gTHfeT
C)ees D)&&hd

Answer Key : A

Question No. 57

In the type of orientation, the rate of change of direction increases in proportion to the increase in light
intensity.
A)Orthokinesis B)Klinokinesis

C)Klinotaxis D)Tropotaxis
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yeR & Hfffaeara &, form aRader #r & T i digar & g & equra 7 93 S B
A) 3Tt TaE B) Rrersiieg e
C)Ferarefraa D)careiFaa

Answer Key : B

Question No. 58
function in mate choice, overcoming of host resistance by mass attack, and defence against

predators.
A)Trail pheromones B)Alarm pheromones
C)Both trail and alarm pheromones D)Aggregation pheromones

A goaat, 93 YA W gHA GaRT AT FioRe W Fg 9 3R woferat & g sua F s

T B
A)ger BUATT B)3Temsy SRAA
C)ear AR e WA grar D)Tsh=eoT RN

Answer Key : D

Question No. 59
Circadian rhythms that are expressed in the absence of any 24-hour signals from the external environment

are called-
A)Free running B)Slow running
C)Fast running D)None of the options

ST ReaA S aredr ardreRor @ 24 ¢ & ey ot Heher i reqafPAfa & sgera A ST §, 41 Fgerreh g2
A)shr algar (X B)efrAT glser
C)ast alsar D) dshedl H ¥ IS Adl

Answer Key : A

Question No. 60
Which of the following measures the central tendency?
A)Mean B)Median
C)Mode D)AIl of the options

AT vgfed i fAeAfaf@d & @ Hler ATgar g2
A)FEg B)#TEgeT
C)ArE D)fashout & & ol

Answer Key : D

Question No. 61
The first genetic material is generally considered to be-
A)Phosphorus B)Calcium
C)DNA D)RNA

Yl AR Jerd WA fFa A S g2

A)BIERRE B)ahforras
C)DNA D)RNA
Answer Key : D

Question No. 62
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Who among the following independently developed the theories of evolution with natural selection as its main
operating principle?

A)Charles Darwin only B)Alfred Wallace only

C)Both Charles Darwin and Alfred Wallace D)None of the options

frfafad # & e wipfas a8 1 7T dured Rgid $ §7 # W@d §U W7 &9 § Aew & Reidl

= fawfaa fFar?
A)FRae Tred BIfdeT B)&hadl 3Teths ATl
Cyared s1fdet 3R 3reths arerd glail D)fdehedl H & FIS Tar

Answer Key : C

Question No. 63
CnH2nO, is the formula of-
A)Fatty acid B)Fat
C)Glycerol D)Carbohydrates

CnH2nO,, foFEerT g7 872
AT Tias B)adr
C)FaeRrer D)&refersgea

Answer Key : D

Question No. 64
Most intracellular enzymes function best around-
A)Neutral pH B)Acidic conditions
C)Basic conditions D)Either neutral or acidic conditions

HOHRN SERAYeR TollsA fhash 36-PE T9 3T 1 Fd 82
A)3erdid pH B) 3wy fEufaar
C)emiy eufaar D)ar ar Iere a1 Fay feataar

Answer Key : A

Question No. 65
Which of the following is an invagination of the muscle cell's sarcolemma?
A)T tubules B)Renal tubule
C)Microtubules D)Collecting tubule

Aafaf@a & ¥ i AR FRFT F TWRHAT F1 AeadR=T §?

AT TZsgel B)¥eTel Tgsger
C)ASHICTsged D)&aifrcar cgegel

Answer Key : A

Question No. 66
Which hormone is secreted by the epithelium of the entire small intestine?
A)Epinephrine B)Cholecystokinin
C)Testosterone D)Oxytocin

YO BIE i T 3Uhell @RI HiT A1 gl Fifad ghar &2
A)TrIeTshIe B)FlaeifhfaeT
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C)eEerEeqeT D)3ifereerfasT

Answer Key : B

Question No. 67
is a cup-shaped structure that contains a tuft of capillaries which help in the filtration of blood.
A)Bowman's capsule B)Gelatin capsules
C)Vegetarian capsules D)AIl of the options

T FY & HHR A G § 7 FRIFBIT F1 6 o1 g1 § S @ & Avdead & Aqg war

gl
A)STHeT Hegel B)fSaifest Seger
C)RMerTeNT Hhegfel D)faeredr 7 & @efr

Answer Key : A

Question No. 68
Which is an insoluble protein that is produced in response to bleeding and is the major component of the

blood clot?
A)Fibrin B)Heparin
C)Apixaban D)Rivaroxaban

FleT T TF Tl N § S Fawa i Giafear 7 30T giar § 3R W F gFF F W GF 87
A)BrsfereT B)guRe
C)3fuerarast D) FCRERIED]

Answer Key : A

Question No. 69
is also known as the external ear which is a characteristic of mammals.
A)Cell wall B)Chloroplast
C)Pinna D)AIl of the options

F S0 FF F FT F N T AT § A TAFURET B v Q{AAYAT
A)FRrEr ffe B)FeiRIcaee
C) =T D) dshedl H & THY

Answer Key : C

Question No. 70

Haemoglobin has 200 to 300 times higher affinity to as compared to oxygen.
A)Carbon monoxide B)Bromine

C)Argon D)Ozone
W@ﬁﬂﬁmﬁwﬁ @rZOOGTSOO?‘,HTaﬁE?WE’Eﬁ%I
AT AAHEFASS B)sitfaeT

C)3TreTeT D)37istieT

Answer Key : A

Question No. 71
The main function of is to transport oxygen to tissues.
A)WBCs B)Leucocytes
C)RBCs D)Thrombocytes
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T T FE FAH dh HiFIs Tgae gl

A)WBCs B)egshidSCH
C)RBCs D)¥Far S

Answer Key : C

Question No. 72
Which type of muscle is striated and anchored by tendons to bone that is used to support skeletal movement
such as locomotion?
A)Cardiac muscle B)Voluntary muscle
C)Smooth muscle D)Involuntary muscle

e vr i Al gl gt ¥ AR Esw qarT g3 @ P g ¥ e Iuer derer i aifar o

T T AT W F A Far srar g2
A)ge dr aAraaeh B)TdfTos AradRl
C)Rrspelr Haef D)3ifeaed Amaael

Answer Key : B

Question No. 73
are responsible for vision at low light levels (scotopic vision).
A)Cone B)Cornea
C)Pupil D)Rods

FH YHIT TR (TP fte) W e F v SR &1
A)are B)apiferar
C)gerelr (Pupil) DRTsa

Answer Key : D

Question No. 74
is a condition caused by insufficient amounts of growth hormone in the body.
A)Gigantism B)Dwarfism
C)Both gigantism and dwarfism D)None of the options

R # 5¢ g FHANT Hr YT AET F FRT g aren Al &
A)STsSifeEA B)staraer
C)amssifera 3R stargsr gt D)fawedl & & FIS G
Answer Key : B

Question No. 75

Which hormone is produced by the posterior pituitary gland that increases the amount of water reabsorbed in
the distal convoluted tubule and collecting duct?
A)Vasopressin B)Glucocorticoid
C)Thyroxine D)Parathyroxine

Fa-ar gl T Reged I ERr AT T ¥ S TEr gEEeR afee AR daewr aifielr F g

ITAMNT el Y AT F FIIAT 2?2
A)daEnfasT B)Te@IIICHISS
C)urRifFasT D)RrmRRfFgeT

Answer Key : A
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Question No. 76
Plants absorb water from the soil through root hair, by the process of-
A)Transpiration B)Conduction
C)Osmosis D)Photosynthesis

der _ froufer A A9 99 & AreaA § AR § aeh FY sraifa &
A)arsdicasiet B)dTelel

C)uRraRoT D)SehTeT-H2o VT

Answer Key : C

Question No. 77
Excessive shoot elongation and chlorosis, induced in poor light or by growth hormones, are called-

A)Abscission B)Permanent wilt

C)Etiolation D)Club root

HA WEN 7 a1 FFw gl ¥ R, a1 33w & g ik FRRe gl gl
A)faeraret B)¥UrfT faec

C)ufeatrereret D)Feld 8

Answer Key : C

Question No. 78
Which is a nitrogen-fixing cyanobacterium that is associated with Azolla and are together found in rice fields?
A)Spirulina B)Anabaena
C)Saccharomyces D)Adnaviria

wﬁ-ma@m-ﬁmmﬂm%mm#@w%mwmméwﬁwm

e
A) Reasfer B) 3terfarget
C)dmrasad D)3reaATiaRar

Answer Key : B

Question No. 79
Nodules each contain an oxygen scavenger called-
A)Leghaemoglobin B)Hemocyanin
C)Methemoglobin D)Both hemocyanin and methemoglobin

TT Al # T 3iRiee ThdsR g §, s FEardT gl
A) AT B)gAraTsiatet
C)AcEATel ST DA 3R AedAaRT aer

Answer Key : A

Question No. 80
Which of the following is an important element required for seed germination in plants?
A)Phosphorus B)lron
C)Magnesium D)Zinc

dielf F s 3iROT F AT 3MARAF F APt aed s & Fl-ar §2
A)BERRT B)<ier
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) D)srear

Answer Key : A

Question No. 81
is a micronutrient that plays an important role in nitrogen fixation.
A)Molybdenum B)Copper
C)Manganese D)Zinc

T ABFHIYCUC § AT Ao & RAUROT #F v Agcaqut AR e g
A)Aiforssaa B)araT
C)Haetrer D)ST&dT

Answer Key : A

Question No. 82
Which is a pigment-protein complex found in cyanobacteria and is an accessory pigment to chlorophyll?
A)Phycocyanin B)Sargassum
C)Rockweeds D)Ectocarpus

PIT-AT FEANFARAT & IR—AT AT aTell Tk AIHAET-WET Fircadd ¢ 3R FaORPAT F v v Tgrs Neee

Y4
A) BISHIHTS foteT B) ERITH
CRTrdsaT D)TaeIhTad

Answer Key : A

Question No. 83
In photosynthesis, chlorophyll serves as a-

A)Hydrogen acceptor B)Hydrogen donor
C)Energy convertor D)Raw material
YT HYANUT H, FeRifher & & FF T g
A)BTS3ISIT FdiehdT B)gTSgISteT arar
C)FaiT uRade D)aear #rel

Answer Key : C

Question No. 84
The products of light reaction in photosynthesis are-

A)ATP and NADPH B)ADP and glucose
C)Ferredoxin and cytochrome-bg D)Cytochromes
TERTRT TRONUT H YehTer & gfafshar & 3curg gl

A)ATP 31k NADPH B)ADP 3R Tofshrst
C)hiEifraa 3R ABehIA -bg D)aTSeIEFE

Answer Key : A

Question No. 85
Which of the following play a prominent role in photosynthetic plant tissues and participate in
photorespiration?
A)Peroxisomes B)Lipases
C)Amylase D)Hydrolase
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famafaf@a & & wla-ar gewrer weawes diel & sawt & wg g Ferar § 3R verRr @we 7 swr adr 32
A)RiFdra=g B)aT=Sg
C)TaATZE D)grsgierd

Answer Key : A

Question No. 86
Water held tightly by the soil particles of the colloidal complex due to adhesive force is called-

A)Hygroscopic water B)Run-off water

C)Gravitational water D)Alkaline water

TSI g & HRUT HIASSA PFcoldFd & AE & O T T HAP ISP giar & e gl ST
gl

A)gTSAERITTS el B)379arg STof

C)T[&careh¥or STel D)&TRIT STel

Answer Key : A

Question No. 87
What will happen to an enzyme when the apoenzyme is separated from the cofactor?
A)Activity will be increased B)Activity will be lost
C)Activity will be decreased D)There will be no change in the activity

S TAIUSATSH &I Pitharet A 9T TFAT ST §, A TATSH FHT AT gRI?
A)afafafer sg Sreel B)arfafafer sise gr Smust)
C)arfafafer ae sreal| D)afafafer & #$ scera 7T gem|

Answer Key : B

Question No. 88
Both a-helix and B-pleated sheet are common types of-

A)Primary structure B)Tertiary structure
C)Secondary structure D)None of the options
a-eforerd 3R p-ceiies efe, g=r F AT 9T &

A)TTafRE EXaeT B)dciaeh ==l
C)ATET HS TITT D)fawedl & & HIS AGT

Answer Key : C

Question No. 89
Which of the following is an agrochemical waste?
A)Mobiles B)Pesticides
C)Sludge D)Scrap

$TH ¥ FlF-A1 TF FR-TAEAF 3afrse 2

A)AETS T B)hreararent
C)&rasg (Sludge) D)&sTg (Scrap)
Answer Key : B

Question No. 90
The gas required for the germination of pea seeds is-
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A)Nitrogen B)Hydrogen
C)Oxygen D)Sulphur
AR & AT F 30T F AT T Aa el

A)ATSEISTT B)gTSgIstet
C) 3ttt D)&aem

Answer Key : C

Question No. 91
are large complexes of protein and ribonucleic acid (RNA) and also cellular organelles
responsible for protein synthesis.
A)Ribosomes B)Chromosomes
C)Mesosomes D)AII of the options

wée 3R sElgfFew wf@s (RNA) & a3 Flecoaw § AR Wide Weewor & v G R
FIRFET (Ao A o &
A)TsErEH B)sIATEIH
C)AHrEH D)faehedt & & el

Answer Key : A

uestion No. 92

ATP is often referred to as the of intracellular energy transfer.

A)Molecular unit of currency B)Non-molecular unit of currency
C)Non-nuclear unit of currency D)Unit of currency

ATP I 38T $ERIcGeR Foll §EAIcROT &I T SAIeT g

A)FST &I TV Fh1S B)HaT T IR-3Taeh Fhrs
C)HeT &1 IR AT g5 D)geT & S

Answer Key : A

Question No. 93
Which enzyme phosphorylates glucose and fructose to give rise to glucose-6-phosphate and fructose-6-
phosphate, respectively?

A)Pyruvate B)Hexokinase

C)Phosphohexose D)Phosphoglycerol

-1 TATSH Tl AR Faers F PIEPNISAC T FHUA: THIST-6-Prehe IR Paclor-6-BREhe & 872
A)ITSEIT SIETIEIEDE]

C)BIERIGFATST D) i€ T ereRicT

Answer Key : B

Question No. 94
Which phase starts at the end of the deceleration phase, when the net growth rate is zero (no cell division)?
A)Lag phase B)Log phase
C)Stationary phase D)Both lag and log phases

SRR F TWOT F Hd # FlA-A1 TWOT Y& A 8, 99 Y8 [ & T aar § (A e Fewrarer a7t
BT 8)?
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A)elaT tat B)aireT %l
C)edfas et D)ot 3R AT et gt

Answer Key : C

Question No. 95
relies on growth regulators that are present in the coverings around the embryo.
A)Exogenous dormancy B)Thermo dormancy
C)Chemical dormancy D)Endogenous dormancy

R & 37 s W AR Far § S 1 & 3e-aw F ARor 7 Al 8§
A)STESiTe SedTaeT B)u#f ggcdrawar
CRTETgfeieh Fgearasar D)37cteiie SgeeTaedr
Answer Key : C

Question No. 96
is defined as the response to changes in daylength that enables plants to adapt to seasonal
changes in their environment.
A)Differentiation B)Photoperiodism
C)Non-differentiation D)Photorespiration

o et i darg & IRade fr 3@ gfafhar & s F oReRa fFar am@r § oS g #@oseas
arareRor # el aRadell & g s F EH g gl
A) frsrramoT B)BIENRAEsH
C)IR-fasidransor D)wleR &

Answer Key : B

Question No. 97
Which of the following plant hormones stimulates the closure of stomata, inhibits shoot growth and induces
storage protein synthesis by seeds?
A)Gibberellins B)Abscisic acid
C)Auxins D)Vitamins

ST ¥ FIA-AT 9GT gl TS F §g P F Sedfold T 8, ool H gy F AFar § 3R NS q@rr

$SRUT NET TRAWOT & IR LT &7
A RRfe=a B)ufeaf@e 3o
C)3ifara=g DERIGEH

Answer Key : B

Question No. 98
Which was the virus to be crystallised for the first time?
A)Cauliflower mosaic virus B)Tobacco mosaic virus
C)Tomato mosaic virus D)Influenza virus

T8 Ugel frecolisd g1 arer fawro] siq-ar ar?

A)gperensfr #Arsieh fasToy B)dFsTe Aotk fawop
C)eHre Hisish fawroy D)g=efuan fawroy

Answer Key : B

Question No. 99
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Viruses have a-

A)Dual chromosome B)Prokaryotic nucleus
C)Single chromosome D)Either DNA or RNA
fawropait & &= gar 87

A)eTERT IR B)Uihikaifeeh shege
C)Tshel IR D)ar dr DNA a1 RNA

Answer Key : D

Question No. 100
Farmers have reported 50% higher yields of rice by using the biofertilizer-

A)Mycorrhiza B)Azolla pinnata

C)Cyanobacteria D)Legume-Rhizobium symbiosis
et S AR F 39T & GG Y 50% 3t de@ar Hr gaer & B
A)ATSHRISSTT B)TSirelr TOater

C)TTsAtsF AT D)SHHA-USSTH Feotadr

Answer Key : B

Question No. 101
Which of the following helps in absorption of phosphorus from soil by plants?
A)Rhizobium B)Frankia
C)Anabaena D)Glomus

et & @ diut G@ErT Her § FEPRT F AT F A HAerd 82
A)TSSTRII B)Shfehar
C)HATSITAT D)Terad

Answer Key : D

Question No. 102
is a member of Vascular Cryptogams.
A)Bryophyta B)Pteridophyta
C)Gymnosperms D)Angiosperms

aRFgeR FFeddFg #1 vF AW (FeE) B
A)STITRISET B)eR=Eprger
C)f Sy D)ufSraeTsy

Answer Key : B

Question No. 103
Absorptive heterotrophic nutrition is exhibited by-
A)Algae B)Fungi
C)Bryophytes D)Pteridophytes

gy vl divor fRad garT YERia giar &2
A)arer B)®ghar

C)sTaThIse D)cRewEe

Answer Key : B
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Question No. 104
Bryophyte is a collective term for-

A)Liverworts B)Mosses
C)Hornworts D)AIl of the options
srwEe fFad T e anRE aes 82

A foaRaréa B)ARE

C)areT D)faeredt & & @i

Answer Key : D

Question No. 105
When the seed starts to germinate in the angiosperm of phanerogams, then it is known as-
A)Ovarian B)Follicular
C)Cotyledons D)Non-cotyledons

S BRI & UToREETe # st PR g IR A §, o 50 fre AW @ e S g2
A)BF=afY (Ovarian) B)geshra (Follicular)

C)dsa= (Cotyledons) D)IR-Srera=r

Answer Key : C

uestion No. 106
A family having unisexual flowers with placentation is-

A)Leguminosae B)Euphorbiaceae
C)Orchidaceae D)Cucurbitaceae
NI (CAAR) &F AL THfolel Fal arell TRAR el
A)Tg iR B)wIfaTEr
C)3nfehadT D)&ehiaedr

Answer Key : D

Question No. 107
Which of the following is the best suited method for production of virus-free plants?
A)Embryo culture B)Meristem culture
C)Ovule culture D)Anther culture

et & & Fla-t aRRE-AFd det & 3cue & fav gew sugEd afr 82

AT o B)fasisatds (AREeH) FeR
C)313TR Foal D) FeaX

Answer Key : B

Question No. 108
Waste products are stored as resins and gums in the-
A)OId xylem B)Young xylem
C)Old phloem D)Young phloem

3ufdse 3cure, fREe IS 3R 9 & w9 & dafRa i &2
A)R SHTgerd B)gaT Sgerd
C)= Fellusd D)gar Fellusd
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Answer Key : A

Question No. 109
Which of the following is a flower-derived insecticide?
A)Pyrethroid B)Acaricides
C)Nematicides D)Fungicides

et # & Fla-ar 7 F-3c0 Fream 2
A)UrRIRYISS B)usIiassd
C)AArraEsd D)%eNdTSsH

Answer Key : A

Question No. 110
Which of these is an arid vegetation indicator plant?

A)Acacia auriculiformis B)Acacia mangium
C)Opuntia dillenii D)None of the options
ST § FlA-AT Yoh Toredfcd Fareh dlem g2

A)Fee 3RS B)sser Hfras
C)3irgferar fSerelr D)fdshedl H & HIS gl

Answer Key : C

Question No. 111
Which of the following is an example of fodder crops?
A)Oats B)Maize
C)Cowpea D)AIl of the options

AT & O FT-ar IR Hr AT FT TH 3SEI0T §7
A)STS B)#HarhT
C)enfe=r D) sheul H & Y

Answer Key : D

Question No. 112
Which of the following is a source of rubber?

A)Cedrus deodara B)Parthenium hysterophorus
C)Hevea brasiliensis D)None of the options

et F & Fla-a1 W F ™ w2

A)83H CagRT B)urdffarae REeimRy
C)efaar smrafaeicad D)fdshedl H & HIS @r

Answer Key : C

Question No. 113
Which of the following fibres is called vegetable fibre?
A)Cotton B)Wool
C)Silk D)None of the options

A # ¥ P9 PR A gAY PIEaR Fgl F1ar 872
A)FarE B)3eT
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C)Xer D)faseut & & S g

Answer Key : A

Question No. 114
When essential oils are extracted, what stage do they go through?
A)Evaporation B)Distillation
C)Rainstorm D)Water

TiRITe Jifga P AW W, 3§ B TOT § P o Isar §7
A)arsdisIoT B)3Tr&asT
C)JWwreir ast D)3t

Answer Key : B

Question No. 115
is/are present in the primary cell wall.
A)Cellulose B)Lignin
C)Both cellulose and lignin D)Neither cellulose nor lignin

wrafAE FfEr BT & R aar 2 §2

A) gt B)faifster
C)legellst 3R fofdetal gl D) dr degaitet 3N o & ffTerer

Answer Key : A

Question No. 116
Which of the following dyes will be suitable for sublimation transfer printing of polyester?
A)Reactive dyes B)Vat dyes
C)Acid dyes D)Disperse dyes

e & @ A1 T WA & SEAUIds TAICROT HE0T & fIT Sugerd grem?
Ayufafsareie &6 B)dT &
C)ufiE & D)f3Eud &

Answer Key : D

Question No. 117
Shikonin, a substance produced by plant cells by tissue culture, is a/an-

A)Red dye B)Hormone

C)Enzyme D)Antibiotic

R, e[ FewR garr dtut Hr FARAET @Rt RFT v gTqred gl
ATl ToTh B)gTHfa

C)ussH D)dares

Answer Key : A

Question No. 118
Synthetic seeds are produced by encapsulating the somatic embryo of alfalfa in-
A)Sodium chloride B)Sodium alginate
C)Sodium acetate D)Sodium nitrate

HEBIHT & HIAS o1 A fhaed dyfed Fh AT et IR o s §2
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A)TIf3TH FaARES B)&aIf3aH tiedae
C)afzas wiRe D)|IfsTH =rgee

Answer Key : B

Question No. 119
Speedy growth and desirable morphogenesis in tissue culture require the presence of in the
culture medium.

A)Auxin B)Cytokinin

C)Both auxin and cytokinin D)Auxin and gibberellins

ey Fem # N gfg 3R Toel APGARE F AT Fowx AT F dr 3ufeafa i smaegshdr
gl &l

A)ifFaa B)ATSCIhTS folel

C)3iifiFasT 3R ascFEAa g D)3itfaaer 3R Gafeea

Answer Key : C

Question No. 120

The embryoids formed from pollen grains are due to in the tissue culture medium.
A)Cellular totipotency B)Organogenesis

C)Double fertilisation D)Test tube culture

WRETRUIT § Fefe dTel O (embryoids) R Feer AreAw # & HROT gt gl
Ao erfedred B) 3ifeifainifae

C)zael v D)¥E T Foe

Answer Key : A

Question No. 121
Which enzyme is used for isolating Protoplasts by the enzymatic treatment method?
A)Cellulase B)Pectinase
C)Both cellulase and pectinase D)Proteases

TagAfeE 3TaR A ganT deicare &1 37eeT &« & v 5 tesa 1 39der fFar s 82

A)TegersT B)dfeeetar
C)¥egerel 3R dfFeast gt D)wifewat

Answer Key : C

uestion No. 122

Chromosomes can be seen most distinctly during the of mitosis.
A)Interphase B)Prophase
C)Metaphase D)Telophase
AEAffE & % ket oA B Hed T ¥ § S@T ST T Bl
A)geTHeT B)wthet

C)AeThat D)dlrthar

Answer Key : C

Question No. 123
The final Era of the Precambrian is the era.
A)Psychozoic B)Proterozoic
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C)Azoic D)Paleozoic
WP @ ifaw o I &l

A)TTSHISTSH B)eAISH
C)usis® D)3feratsiig

Answer Key : B

uestion No. 124
Lampbrush chromosomes are seen during the-

A)Meiotic metaphase B)Mitotic metaphase
C)Mitotic prophase D)Meiotic prophase
s I R gl dw St €2

A)AATEH ACThST B)HTScIfesh Aethol
C)AtseIfes Wihat D)yAJIfes Whet

Answer Key : D

Question No. 125
At Anaphase | of meiosis in a plant, a bridge and a fragment are observed. This is because the plant has-
A)Translocation B)Alloploidy
C)Pericentric inversion D)Paracentric inversion

T i F ARG § T | #, T g iR T ST q@m SaT gl QT sufee § e die &

_____®l
A)EUTAT=]OT (Translocation) B)Ualiceilgar
C)NEfesw swada D)RIifes seala

Answer Key : D

Question No. 126
The chromosomes found in the Drosophila salivary gland are-
A)Polytene B)Lampbrush
C)Supernumerary D)B-chromosomes

Afher @R A F 9T A AT U FlA-F §?
A)ureirefieT B)olFasrar
C)31frd&T (Supernumerary) D)B-shrANH

Answer Key : A

Question No. 127
In an aqueous solution, acridine molecules bind to DNA by inserting themselves between adjacent base pairs.
The process is called-
A)Depurination B)Substitution
C)Both depurination and substitution D)Intercalation

TH SN W #, TR 0] e IMUR FeAr & T T Fr @fFAfdd #F DNA @ 5 9 81 T%
gfshar _ gt gl

A)faegisT=t B)faemd=

C)faeglister 3R gfaeardsr gt D)3tdferaers
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Answer Key : D

uestion No. 128
Crossing over may result in the-

A)Addition of genetic material B)Deletion of genetic material
C)Exchange of genetic material D)None of the options

FITAIT 3G &1 IROTA FA7 g Fhell 87

A)3TTIafRIeR el @ SEE B)3TiefaRIeh ATHT 1 faelide
C)3efa s |t &1 fafaera D)fasredt & & +Is 7TET

Answer Key : C

Question No. 129
Sex-linked traits are the traits determined by-
A)Sex chromosome B)Autosomes
C)Allosomes D)AIl of the options

oo & 53 wreror & weror § S R qEr AuiRa @i 87
A)fia aorga B)3iferaFa
C)uel =g D)fawedl & & T

Answer Key : A

Question No. 130
What is chromosome walking?

A)Hybridization technique B)Sequencing technique
C)Genetic marker D)Chemical degradation technique
PIAME aiferer T §2

A)EEFIUT dehellch B) 31TshHUT dehetleh

C)HTTA TR HThT DIrErfeieh &ROT deheileh

Answer Key : A

Question No. 131
According to Mendelism, which character shows dominance in the pea plant?
A)Terminal flower position B)Green seed colour
C)Wrinkled seed shape D)Green pod colour

ARfOSH ¥ IER, A F A F FT T F&TT e gRier ¥?
A)ITTET For T Aty B)&X &It & T
C)eiifer dieT T 3R D)ed well & LT

Answer Key : D

Question No. 132
linkage refers to linkage of genes which are located in sex chromosomes.
A)X-Chromosomal B)Autosomal
C)Complete D)Partial

foidheT T arcad 31 St & foldher & § S G99 wAaA & Bya g €1
A)X-rATAF B)3iferats e
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C)aquT D)31ifreh

a

Answer Key : A

Question No. 133
Xeroderma pigmentosum is an example of-

A)X-linkage B)Y-linkage

C)X-Y linkage D)None of the options
AT AT fFasr U 3emeor &2

A)X-foichat B)Y-felshat

C)X-Y foishat D)fasredr & & +Is 7ET

Answer Key : C

Question No. 134
Which of the following genes was engineered in the "Flavr Savr" transgenic tomato variety?

A)1- amino cyclopropane-1 - carboxylic acid B)1- amino cyclopropane-1 - carboxylic acid oxidase
synthase
C)Expansin D)Polygalacturonase

ffaf@a & @ Fla a1 i "Foaw A" giEeifas eAey @ fFer & geifags frar sar ar
A)1- 3T FEFANUA-1 - FlElFoliod TS AT B)1- 33T TEFAWNUA-1 - FEiFoliad TRAS
eSS
C)Terardi et D)dTelieoragater
Answer Key : D
Question No. 135
The selection of a number of plants or seeds which are phenotypically superior in the desired trait from the
field population is called-
A)Mass selection B)Pureline selection

C)Clonal selection D)Both mass and pureline selection

& I IMEIET § S 0T # Belleslis §9 & dgc H$ iel a1 ISl & =>eT ' A7 FeT ST g2
A)TTHfEH TIAT B)2[€ dRUHH T
C)FelteTel =T D)yarfes 3R g dwhA TJA Gl

Answer Key : A

Question No. 136
The linkage between two or more dominant or recessive alleles on the same chromosome is referred to as-
A)Repulsion B)Incomplete
C)Gene interaction D)Coupling

TS @Y ORI T aT AT ar & A GHE A I Tollew F oI e AT FT AT 67
A)faedor B)3rer

N

C)sireT 37cT:forar D)IIHT

S

Answer Key : D

Question No. 137
The final stable community in an ecological succession is called the-
A)Pioneer community B)Ultimate community
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C)Climax community D)Seral community

aRfeafaw e 3 3ifas R WoEr 1 Fr @ &7

A) AT FHET B)R#A FHc
C)IRHA FH D)&A% T
Answer Key : C

Question No. 138
The movement of nutrient elements, through the living and non-living components of the biosphere, is called

the-
A)Biological cycle B)Chemical cycle
C)Biogeochemical cycle D)Geothermal cycle

SNz & MR 3R [T geat F Aregw F QvE daal ¥ S FT FAT Foad 87
A)sifasw a% B)I@fieh Tsh
C)sta {-THafeieh wsh D)EGICIEESED

Answer Key : C

Question No. 139
The other area of ecology which deals with the systems of many species - whole communities or major
fractions of communities and ecosystems - is termed as-
A)Autecology B)Resource Ecology
C)Species Ecology D)Synecology

3 gl - Fqot FHErET a1 aeert 3R aIiRfRufas dat & v aiRi - @ yonfot @ wefta oikfRufadr

F 3T 8T P AT Fgd 87
A) 3TeYprelrsi B)gaTye ariRiEfaehT
C)usnfa aTRiEfaehT D)auTRIEafahr

Answer Key : D

Question No. 140
An example of plants occupying the second stage of hydrosere is-
A)Vallisneria B)Ecesis
C)Azolla D)Typha

FEEIR & @Y WOT # A arer dtut &7 T See]or 4T 82
A) TR B)ufrafaa
C)37attelr D)eTSwT

Answer Key : A

Question No. 141
Carbon cycles through the biosphere in all of the following processes EXCEPT-
A)Photosynthesis B)Transpiration
C)Burning of fossil fuels D)Decomposition of plants and animals

AT 7 & Faer oiga Tl ufhansil & Shadsa & Artad ¥ FET T% gidar 872
A)IRTRT HLYOT B)arsalcHsiel
C)STared 3T HI STolell D)diert 3R SeaRT Fr 39EesT
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Answer Key : B

Question No. 142
The biosphere (living organisms) interacts with the-
A)Hydrosphere B)Lithosphere
C)Atmosphere D)AII of the options

Sarse (shfaa sha) fFas ey ia:frar &ar &2
A)STerFHS B)TUe#HS
C)arg#Hse D)fasedr 7 & @efr
Answer Key : D
Question No. 143
Which is the desirable approach when a threatened plant needs urgent measures to save it from extinction?
A)In-situ conservation B)Ex-situ conservation

C)Cryopreservation D)Bio-preservation

Heheaed 9 Bt Reged @ § 9= & fT dehrer 3URT F FiT A7 eI e 82
A)ST-HIg EI&ToT B)werd ¥ E&Tor
C)shTaraReToT D)sta-gvafor

Answer Key : B

Question No. 144
What type of chemical weathering is enhanced by acid rain?
A)Hydrolysis B)Dissolution
C)Oxidation D)Hydration

IFENT O ¥ P RE 1 TAIAF 3987 gedr &7
A)grsgifaiad B)faeres
C)3itareiaor DHEENEH

Answer Key : A

Question No. 145
The process of introducing trees and tree seedlings to an area that has previously not been forested is
generally called-
A)Afforestation B)Reforestation
C)Deforestation D)None of the options

el & a1 F 93 3R 3WF 3R A o G T fr 9fEr S dd @ aeresied w8 8, W a W

FEercl 872
A)TsiTeRioT B)qeiderRIqoT
C)aetieelet D) Qshedl & & IS gl

Answer Key : A

Question No. 146
The purposeful clearing of forested land is called-
A)Soil revival B)Deforestation
C)Afforestation D)Soil erosion
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qoTerT Y A A SRAVT RS AP HrFeg d __ Fgl Al ¢l
A)FET JeTegR B)aeiteaetet
C)d=iTehoT D)er ReA

Answer Key : B

Question No. 147
Sal forests are found in which district of Jharkhand?
A)East Singhbhum B)West Singhbhum
C)Seraikela Kharswan D)AIl of the options

I (TGN & a7 FIREUS & fFw o & aw ama §72
A)gdl TEgers B)ufRusr Agers
C)TRehell TIATAl D)fashenl H & Y

Answer Key : D

Question No. 148
The botanical name of the state flower of Jharkhand is-

A)Butea monosperma B)Shorea robusta
C)Eudynamys scolopaceus D)Elephas maximus indicus
FR@US F TTHT ol F qE(H AH gl

A)sgfear AETHAT B)efRar Jereer
C)ZETeTAT TheAraHd D)Telihe #AfFaay sfshd

Answer Key : A

Question No. 149
Which of the following species of trees is found in Jharkhand?
A)Anogeisus B)Shorea Robusta
C)Boswellia D)AIl of the options

93t fr 57 & Fla-A gonfa SIR@US & 91§ AT g2
A)TASEE B) N Jswer
C)araaferar D)dshedl H & T

Answer Key : D

Question No. 150
The meaning of the name of 'Jharkhand' is connected to its-

A)Industries B)Forests
C)Lakes D)Rivers
'SREUS & ATH & 3 7 & W ST EI; T
A)3creit B)SiaTeir
C)sirer D)aAft

Answer Key : B
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